2 Statica My; Dele eminate

Bearms and Frames

2.1 Introduction: )
Equatons of equilibriurm are sufficient to anaiyze
theése type of problem.
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2.2 Procedure:

: ons of
Stepl: Caleulate DST. IF ib & ZET0 Menjqi:;e LA,
equilibrium are sufrerent to analy

Steplr: Draw £8D of entiT® strucktre.

e 5.
SteplIIL: Formulate equa/h’ons in terms oFﬁUSr;};;i,;JInafgd
Step 1v: Solve simulkaneous equalions 9

calculate unknovor) forces.
StepVv: Draw BMD.

Ex. ﬂnahjze the Frame c?r’ven be lory .
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Step 1V
From eq” () to (9
Ri= 3791&N

Ra= 12.81 kN
R3 - -22.91 kN
Ry = 17.18 kN



StepV: BMD.

ﬂssurm’ng
For DC:
B BMy= RgX (+ve becoz comp ressio
ref Pace)

outerfoace as ref. face.
n on

Z .zzufu;u: - 17.18 X
x .r Atx=0, BM =0
;}L Ry x= A, BM<z 68.92 kN-T.
Ry
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(+ve becoz COMpression en
reference face)

= -22.91 T + 17.18%4
Atx=-0, BM= 68.72 kN

2=3m. BM =0

Concept — = :
! . BM at any section in nelines and curyed

How to writ€
BMg= (Rcas8) X (—i—ve becoz comp. oD

ref fa ce)
- R (x cos®

_‘Lk“r distance biw Foree

= Forcex
and section,
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BMy = R,XOSH — Ry 2SING - W  (4ve if comp 00)
2 ref face
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A x-0, BM=0
2’:5 s BM:O
Ror maximum BM:-
d(BML)
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Ak x-92.5m, BM:: 15.61 kNm .
BMD :- 68.72
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